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Test Administrator Instructions

When printing the PDF files for the three Math Sessions, be sure to set the Page Scaling 
drop-down menu on the Print screen to None, No Scaling, or Actual Size depending on 
the printer you are using. Otherwise, measurement items may not be the correct size, 
which may impact student responses.

�

�

�

�

�

This document contains a Practice Test that shows what each part, or session, of an 
actual grade 4 math assessment is like.

The Practice Test may be used at home or at school for students to become familiar with 
the LEAP test they will take in spring 2014. It may help students feel more relaxed when 
they take the actual test.

The Assessment Structure provides information on the overall design of the actual test. 
The Assessment Structure and example items can be found on the Louisiana Department 
of Education’s website.

The mathematics test has three sessions to be taken separately: 

 � Session 1 (pages 3 to 17) includes 36 multiple-choice
  questions—a calculator may not be used. 

 � Session 2 (pages 19 to 32) includes 24 multiple-choice
  questions—a calculator may be used. 

 � Session 3 (pages 34 to 36) includes 3 constructed-response
  questions—a calculator may be used. 

A Mathematics Reference Sheet, which students may use for all sessions, is located on 
page 39. 

Students respond to multiple-choice items using the Answer Sheets on pages 37 and 38 
and constructed-response items using pages 34 to 36 of Session 3.

The Answer Keys and Scoring Rubrics, used to score student responses, are located on 
pages 40 to 44.

LEAP Practice Test—Grade 4 Mathematics

http://www.louisianabelieves.com/resources/library/assessment-guidance-2013-2014
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Mathematics—Sessions 1, 2, and 3
GENERAL INSTRUCTIONS

 
 

The Mathematics test has three sessions, two with multiple-choice 

questions and one with constructed-response questions. You may 

not use a calculator for session 1, but you may use a calculator for 

sessions 2 and 3.
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Write your answers for questions 1 through 36 in the spaces provided on
page 37, session 1 answer sheet. Write only one answer for each question.
You may work problems in your test booklet or on scratch paper, but you must
mark your answer on your answer sheet. You may review your work in this
session, but do not work on any other session.

  You may NOT use a calculator for this session.

1. Amelia’s pencil is
12
100

of a meter long. What is the length, in meters, of Amelia’s pencil

written as a decimal?

A. 0.12

B. 1.02

C. 1.2

D. 12.100

2. There are 7 days in a week. In the month of February, there are 28 days this year. How many
times as many days are there in February than are in one week?

A. 4 times

B. 7 times

C. 21 times

D. 35 times

3. Westview School is buying new basketball uniforms. Each uniform costs $46. The school will
buy 12 uniforms. Which equation shows a way to find the total cost of the uniforms?

A. (40 × 10) + (6 × 2) = 400 + 12

B. (40 × 6) + (10 × 2) = 240 + 20

C. (40 × 12) + (6 × 12) = 480 + 72

D. (40 × 12) + (60 × 12) = 480 + 720

Session 1—Mathematics (No Calculator)
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4. Add.

46,911 + 653,092

A. 699,903

B. 700,003

C. 913,203

D. 1,122,202

5. Brady saw that people were sitting in
6
10

of the chairs in the library. What decimal is equal

to the fraction of library chairs that had people sitting in them?

A. 0.06

B. 0.6

C. 0.610

D. 6.10

6. For a concert, there are children’s tickets and adult tickets for sale. Of the total available

tickets,
37
100

have been sold as adult tickets and
4
10

as children’s tickets. The rest of the

tickets have not been sold. What fraction of the total number of tickets for the concert

have been sold?

A.
41
110

B.
41
100

C.
77
110

D.
77
100

Session 1—Mathematics (No Calculator)
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7. Tolu has a group of shapes. Each shape in her group has at least one set of parallel sides.
Each shape also has at least one set of perpendicular sides. Which group could be
Tolu’s group of shapes?

A.

B.

C.

D.

8. A stack of 7 pennies has a height of 1 centimeter. Nick has a stack of pennies with a height of
4 centimeters. Which equation can be used to find the number of pennies, n, in Nick’s stack of
pennies?

A. n = 7 + 4

B. n = 7 – 4

C. n = 7 × 4

D. n = 7 ÷ 4

Session 1—Mathematics (No Calculator)
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9. Three friends each played the same computer game. The table below shows the fraction of the
game each of them has completed.

Fraction of Computer
Game Completed

Name Fraction
Completed

Akira

Connor

Duan

1
2

2
5

2
3

Which of the following statements is true?

A. Akira has completed less of the game than Duan has.

B. Connor has completed more of the game than Duan has.

C. Akira and Connor have completed the same amount of the game.

D. Connor and Duan have completed the same amount of the game.

10. Divide.

7,285 ÷ 4

A. 1,801

B. 1,801 R1

C. 1,821

D. 1,821 R1

Session 1—Mathematics (No Calculator)
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11. Mia’s favorite sports team has won 0.42 of its games this season. How can Mia express this
decimal as a fraction?

A.
4
20

B.
42
100

C.
4
2

D.
42
10

12. Subtract.

2,396 – 1,709

A. 687

B. 693

C. 1,493

D. 1,695

13. Use the models below to answer the question.

Which statement about the models is true?

A. Each shows the same fraction because they are the same size.

B. Each shows a different fraction because they are different shapes.

C. Each shows the same fraction because they both have 3 sections shaded.

D. Each shows a different fraction because they both have 3 shaded sections but a different
number of total sections.

Session 1—Mathematics (No Calculator)
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14. Lily is going to give away all the pieces of candy in a bag. She can give an equal number of
pieces of candy to 5, 3, or 2 people. Which number of pieces of candy could be in Lily’s bag?

A. 12

B. 20

C. 30

D. 45

15. The table below shows the number of art pieces owned by a museum.

Art Pieces Owned by a Museum

Type Number
Owned

paintings 3,741

statues 579

How does the value of the 7 in the number of paintings owned by the museum compare to the
value of the 7 in the number of statues owned?

A. It is 10 times greater.

B. It is 70 times greater.

C. It is 100 times greater.

D. It is 700 times greater.

16. Gary has 72 cows on his farm. He has 6 times as many cows as he has horses. The number
sentence below can be used to find the number of horses, h, he has.

72 ÷ h = 6

How many horses, h, does Gary have?

A. 12 horses

B. 66 horses

C. 78 horses

D. 432 horses

Session 1—Mathematics (No Calculator)
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17. Bradley uses
2
3

of a cup of sugar to make a batch of cookies. The expression below shows

how much sugar, in cups, he uses to make 4 batches of cookies.

4 ×
2
3

Which fraction model is equal to the number of cups of sugar Bradley uses for all 4 batches of
cookies?

A. + +

B. + + + + +

C. + + +

D. + + + + + + +

18. Mr. Carson drove 1,027 miles in April. He drove 988 miles in May. Mr. Carson used the
expression below to find how many more miles he drove in April than in May.

1,027 – 988

How many more miles did Mr. Carson drive in April than in May?

A. 39 miles

B. 139 miles

C. 161 miles

D. 1,961 miles

Session 1—Mathematics (No Calculator)
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19. Aaron’s pet hamster weighs
3
10

of a pound. Which decimal is equal to the weight, in

pounds, of Aaron’s pet hamster?

A. 0.103

B. 0.3

C. 0.310

D. 3.10

20. Mary Beth has a bag of 3 different types of candies. The fractions of two types of candies in
the bag are listed below.

• candies that have nuts:
59
100

• candies that have caramel:
2
10

The rest of the candies in the bag have chocolate. What fraction of the candies in Mary Beth’s
bag have either nuts or caramel?

A.
61
110

B.
61
100

C.
79
110

D.
79
100

21. Kelly chose a mystery number. Her mystery number is a factor of 38. Which number could be
Kelly’s mystery number?

A. 2

B. 3

C. 4

D. 8

Session 1—Mathematics (No Calculator)

Mathematics Grade 4 Page 10 GO ON TO THE NEXT PAGE � 



22. There are 31 days in the month of January. Michelle did 45 push-ups each day of the month.
She used the expression below to find the number of push-ups she did in January.

31 × 45

How many push-ups did Michelle do in the month of January?

A. 125 push-ups

B. 279 push-ups

C. 1,395 push-ups

D. 1,406 push-ups

23. Kenitra painted 0.25 of her triangle. Grace painted 0.5 of her triangle. The sections and
portions of the triangles that the girls painted are shown in the models below.

0.25 0.5

Kenitra’s Triangle Grace’s Triangle

Which statement about the triangles that Kenitra and Grace painted is true?

A. Kenitra painted a larger area than Grace because 0.25 > 0.5.

B. Kenitra painted a smaller area than Grace because 0.25 < 0.5.

C. A fair comparison cannot be made because they painted different portions of different
sized triangles.

D. Kenitra and Grace painted the same amount of area because the portions of the triangles
painted are equal.

Session 1—Mathematics (No Calculator)
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24. Sandra planted some flowers. On Monday, 6 out of 12 flowers were blooming. This is shown in
the model below.

On Tuesday, more of Sandra’s flowers were blooming, but not all of them. Which fraction of
the total planted flowers could be blooming on Tuesday?

A.
1
2

B.
1
3

C.
3
4

D.
12
12

25. Use the equation below to answer the question.

14 × 3 = 42

Which statement correctly interprets the expression?

A. 14 is 3 more than 42.

B. 42 is 14 more than 3.

C. 14 is 3 times as many as 42.

D. 42 is 3 times as many as 14.

Session 1—Mathematics (No Calculator)
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26. Use the fraction models below to answer the question.

Model A Model B

Which pair of statements about the fraction models is true?

A. The fraction models represent different fractions.

This is true because model A is a different shape than model B.

B. The fraction models represent different fractions.

This is true because the sections in model A are not all the same size.

C. The fraction models represent the same fraction.

This is true because both models are made of sections that are in the shape of a triangle.

D. The fraction models represent the same fraction.

This is true because both models have the same total number of sections and the same

number of shaded sections.

27. Olivia used the rule "Add 11" to create the number pattern shown below.

10, 21, 32, 43, 54

Which statement about the number pattern is true?

A. The 10th number in the pattern will be an even number.

B. The number pattern will never have two even numbers next to each other.

C. The next two numbers in the pattern will be an even number then an odd number.

D. If the number pattern started with an odd number then the pattern would have only odd
numbers in it.

Session 1—Mathematics (No Calculator)
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28. A post office delivered eighteen thousand ninety-six pieces of mail in a week. What is this
number of pieces of mail written in expanded form?

A. 18 + 1,000 + 90 + 6

B. 18 + 1,000 + 900 + 60

C. 10,000 + 8,000 + 90 + 6

D. 10,000 + 8,000 + 900 + 60

29. On 6 different days, Sydney read a book for
4
5

of an hour. What was the total amount of time

Sydney read her book on the 6 different days?

A.
24
30

of an hour

B.
10
11

of an hour

C.
10
5

hours

D.
24
5

hours

Session 1—Mathematics (No Calculator)
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30. Nila has 4 puppies. Each puppy weighs
4
3

pounds. Nila used the expression below to

represent the total weight of her puppies.

4 ×
4
3

Which model also represents the total weight of Nila’s 4 puppies?

A.

B.

C.

D.

31. Frankie’s baseball team scored 16 runs in a game. Max’s baseball team scored 8 runs in a
game. Which statement about the number of runs scored by Frankie’s and Max’s baseball
teams is true?

A. Frankie’s team scored 2 times as many runs as Max’s team because 16 = 2 × 8.

B. Frankie’s team scored 2 times as many runs as Max’s team because 8 = 2 × 16.

C. Max’s team scored 2 times as many runs as Frankie’s team because 16 = 2 × 8.

D. Max’s team scored 2 times as many runs as Frankie’s team because 8 = 2 × 16.

Session 1—Mathematics (No Calculator)
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32. An office building has 300,000 + 5,000 + 600 + 10 square feet of floor space. What is the
number of square feet of floor space written in standard form?

A. 30,561

B. 35,610

C. 300,561

D. 305,610

33. Use the number below to answer the question.

107,792

Which statement about the two values of the digit 7 is correct?

A. The value of the underlined 7 is 10 times less than the value of the other 7.

B. The value of the underlined 7 is 100 times less than the value of the other 7.

C. The value of the underlined 7 is 10 times more than the value of the other 7.

D. The value of the underlined 7 is 100 times more than the value of the other 7.

34. Collin spent 7 hours volunteering last month. Vanessa spent 21 hours volunteering last month.
Which equation correctly shows how many times more hours Vanessa spent volunteering last
month than Collin?

A. 7 × 3 = 21

B. 7 × 14 = 21

C. 21 × 3 = 63

D. 21 × 7 = 147

Session 1—Mathematics (No Calculator)
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35. Use the equation below to answer the question.

7 × 3,092 =

Which expression could be used to correctly fill in the ?

A. (7 × 30) × (7 × 92)

B. (7 × 30) + (7 × 90) + (7 × 2)

C. (7 × 3,000) + (7 × 90) + (7 × 2)

D. (7 × 3,000) + (7 × 900) + (7 × 20)

36. Which statement about
3
4

and
9
10

is true?

A.
3
4

=
9
10

because 4 – 3 = 1 and 10 – 9 = 1.

B.
3
4

=
9
10

because 3 + 6 = 9 and 4 + 6 = 10.

C.
3
4

<
9
10

because 3 is less than 9 and 4 is less than 10.

D.
3
4

<
9
10

because
3
4

is less than
4
5

and
9
10

is greater than
4
5
.

Session 1—Mathematics (No Calculator)
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Mathematics—Sessions 1, 2, and 3
GENERAL INSTRUCTIONS

 
 

The Mathematics test has three sessions, two with multiple-choice 

questions and one with constructed-response questions. You may 

not use a calculator for session 1, but you may use a calculator for 

sessions 2 and 3.
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Write your answers for questions 37 through 60 in the spaces provided on
page 38, session 2 answer sheet. Write only one answer for each question.
You may work problems in your test booklet or on scratch paper, but you must
mark your answer on your answer sheet. You may review your work in this
session, but do not work on any other session.

  You MAY use a calculator for this session.

37. Josie drew a shape that has both parallel sides and perpendicular sides. Which shape could
be the one Josie drew?

A.

B.

C.

D.

Session 2—Mathematics (Calculator)
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38. Taylor’s jump rope is shown in the diagram below.

4 yards

Taylor’s Jump Rope

Which measurement is the same as the length of Taylor’s jump rope?

A. 12 feet

B. 12 inches

C. 48 feet

D. 48 inches

39. A newspaper company sold 179,912 newspapers in one day. What is this number of
newspapers written in word form?

A. one hundred seventy-nine thousand twelve

B. one hundred seventy-nine nine hundred twelve

C. one hundred seventy thousand nine hundred twelve

D. one hundred seventy-nine thousand nine hundred twelve

40. Ed has climbed 9 flights of stairs. He needs to climb a total of 15 flights of stairs. The shaded
region of which figure models the number of flights of stairs Ed has climbed out of the total
number he needs to climb?

A. B.

C. D.

Session 2—Mathematics (Calculator)
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41. The amount of time, in hours, that Anna practiced the piano each day for 11 days is shown on
the line plot below.

Anna’s Piano Practice

Practice Time (hours)

1
3
4

1
2

1
4

×
×
×
×
×

×
×

×
×

×

3
4

1
2

1
4

×

111

How many hours in total did Anna practice the piano over the 11 days?

A. 4
1
4

hours

B. 6
3
4

hours

C. 7
3
4

hours

D. 8
1
4

hours

42. Stephanie flew 2,448 miles from Los Angeles to New York City. What is the number of miles
Stephanie flew rounded to the nearest thousand?

A. 2,000

B. 2,400

C. 2,500

D. 3,000

Session 2—Mathematics (Calculator)
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43. Jacqui is organizing triangles into groups based on the characteristics of each triangle. She
has a triangle that needs to be organized into one or more of the groups. The triangle and
group characteristics are shown below.

Triangle and Groups

Group Characteristic
65°

90°

25°

1

2

3

acute triangle

obtuse triangle

right triangle

Which statement about where Jacqui’s triangle belongs is true?

A. only group 1 because two of the angles are acute

B. only group 3 because one of the angles measures 90°

C. groups 1 and 3 because the triangle has both a right and an acute angle

D. groups 1 and 2 because the sum of the acute angles is greater than 90°

44. Erin made 12 pints of juice. She drinks 3 cups of juice each day. How many days will Erin take
to drink all of the juice she made?

A. 2 days

B. 4 days

C. 8 days

D. 9 days

Session 2—Mathematics (Calculator)
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45. Information about what the students in Mr. Paulson’s class and in Ms. Hugo’s class ate for
lunch is listed below.

• In Mr. Paulson’s class, 0.5 of the students ate pizza for lunch.
• In Ms. Hugo’s class, 0.5 of the students ate hamburgers for lunch.

What information, if any, is needed to correctly compare the 0.5 of Mr. Paulson’s class that ate
pizza to the 0.5 of Ms. Hugo’s class that ate hamburgers?

A. whether the lunches were eaten on the same day

B. the total number of students in each teacher’s class

C. nothing because the portions each class ate were the same

D. the total number of pizza slices and hamburgers eaten that day

46. A straight line measures 180°. A straight line and a triangle are touching as shown in the figure
below.

x
80˚

16˚ ˚

What is the value of x in the figure?

A. 64

B. 84

C. 90

D. 96

Session 2—Mathematics (Calculator)
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47. Which shape has the greatest number of obtuse angles?

A.

B.

C.

D.

48. On Saturday Lily was a referee at 3 soccer games. She arrived at the soccer field 15 minutes

before the first game. Each game lasted for 1
1
2

hours. There were 5 minutes between each

game. Lily left 10 minutes after the last game. How long, in minutes, was Lily at the

soccer field?

A. 300 minutes

B. 305 minutes

C. 480 minutes

D. 485 minutes

Session 2—Mathematics (Calculator)
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49. Andy and his sister are going to play a game. They need nickels to play the game. Andy
changes all of the money shown below to nickels.

After Andy changes the money to nickels, he still has the same amount of money. He gives half
of the nickels to his sister and keeps half to play the game. How many nickels did Andy give
his sister?

A. 15 nickels

B. 16 nickels

C. 26 nickels

D. 32 nickels

Session 2—Mathematics (Calculator)
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50. The figure below shows a diagram of a reading room.

w

10 ft

Reading Room

The perimeter of the reading room is 60 feet (ft). What is the width, w, of the reading room?

A. 6 ft

B. 12 ft

C. 20 ft

D. 50 ft

51. Raymond drew an angle that measures 3°. Which expression is equivalent to the measure of
Raymond’s angle?

A.
1
3

of a circle +
1
3

of a circle +
1
3

of a circle

B.
1
90

of a circle +
1
90

of a circle +
1
90

of a circle

C.
1

100
of a circle +

1
100

of a circle +
1

100
of a circle

D.
1

360
of a circle +

1
360

of a circle +
1

360
of a circle

Session 2—Mathematics (Calculator)

Mathematics Grade 4 Page 26 GO ON TO THE NEXT PAGE � 



52. Which shape shows a line of symmetry?

A.

B.

C.

D.

Session 2—Mathematics (Calculator)
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53. Sheryl made a rectangular cake. The shaded part of the picture shows the remaining portion
of the cake after some of it was eaten.

Sheryl’s Cake

L

Angle L was created when the last piece of cake was eaten. What type of angle does this
appear to be?

A. acute

B. obtuse

C. right

D. straight

54. Jan scored 3 more points in the basketball game than Salah. Cindy scored 22 points, which
was twice as many points as Jan. How many points did Salah score?

A. 8

B. 11

C. 14

D. 19

Session 2—Mathematics (Calculator)
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55. Ben has a rectangle. The value of the area of his rectangle is half the value of the perimeter.
Which rectangle could be Ben’s rectangle?

A.
2

2

B.

4

4

C.
4

5

D.
4

8

Session 2—Mathematics (Calculator)
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56. Rounded to the nearest 10,000, the population of Louisiana was 4,530,000 in 2010. Which
number could be the actual population of Louisiana in 2010?

A. 4,500,321

B. 4,524,491

C. 4,533,372

D. 4,535,343

57. Use your protractor to answer the question below.
F

H

J G

Which measure is closest to the measure of angle H?

A. 30°

B. 35°

C. 150°

D. 155°

Session 2—Mathematics (Calculator)
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58. Which model and number line show the same fraction?

A.
0 1 2 3

B.
3
2

2
2

1
2

0 4
2

C.
3
6

0 6
6

D.
3
4

2
4

1
4

0 4
4

Session 2—Mathematics (Calculator)
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59. Which figure has no lines of symmetry?

A. B.

C. D.

60. Trilla is designing a sandbox. The floor of the sandbox is shown below.

6 feet

7 feet

What is the area of the floor of Trilla’s sandbox?

A. 13 square feet

B. 26 square feet

C. 36 square feet

D. 42 square feet

Session 2—Mathematics (Calculator)
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Mathematics—Sessions 1, 2, and 3
GENERAL INSTRUCTIONS

 
 

The Mathematics test has three sessions, two with multiple-choice 

questions and one with constructed-response questions. You may 

not use a calculator for session 1, but you may use a calculator for 

sessions 2 and 3.

Mathematics Grade 4 Page 33



Write your answers for questions 61 to 63 in the spaces provided below. The
questions have more than one part. Show all the work you do to find your
answers. Even if you cannot answer all parts, answer as many as you can. You
may still get points for answering part of a question. Be sure to write clearly.
You may review your work in this session, but do not work on any other
session.

  You MAY use a calculator for this session.

61. A river-rafting tour company has rafts that each have room for up to 6 people.

A. On the first river-raft tour, there are 8 full rafts and 1 raft with 5 people in it. How many
people are on the first tour? Show or explain how you found your answer.

B. On the second river-raft tour, there are 26 people. What is the fewest number of rafts
needed for this river-raft tour?

C. Using your answer from Part B, describe how many people should be in each of the rafts so
the people are as evenly grouped as possible.

Session 3—Mathematics (Calculator)
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62. Lena will use boards similar to the one shown below to build some shelves.

A. Lena can use one entire board to make 4 shelves. Each shelf will be the same shape and
size. She needs to make 4 shelves that are each the same shape and size. Draw straight
lines on the board above to show where Lena could cut it to make the shelves.

B. On the board below, draw straight lines to show another way Lena could cut the board to
make 4 shelves that are each the same shape and size.

C. Lena can also make shelves that are the shape and size of the piece of board shown below.

How many shelves of this shape and size could she make from the original board?

D. Lena wants to use a new board of a different size. This board is shown below.

What fraction of the original board is this new board?

Session 3—Mathematics (Calculator)
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63. Angie is making bags of trail mix. She buys the ingredients below to put in her trail mix.

• five 16-ounce boxes of raisins
• 4 times as many ounces of nuts as ounces of raisins
• chocolate chips

A. How many ounces of nuts does Angie buy?

B. Angie puts 3 ounces of raisins in each bag of trail mix. She makes as many full bags of trail
mix as possible. How many ounces of raisins are not used in a full bag of trail mix?

C. Each bag of trail mix Angie makes will have a total of 17 ounces of raisins, nuts, and
chocolate chips. She will put 4 times as many ounces of nuts as ounces of raisins into each
bag. What is the least total amount, in ounces, of chocolate chips Angie should buy? Show
or explain how you found your answer.
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MATHEMATICS REFERENCE SHEET—GRADE 4

Use the information below to answer questions on the Mathematics test.

1 foot = 12 inches

1 yard = 3 feet

1 pound = 16 ounces

1 hour = 60 minutes 

1 minute = 60 seconds 

1 meter = 1,000 millimeters

1 meter = 100 centimeters

1 kilometer = 1,000 meters

1 liter = 1,000 milliliters

1 kilogram = 1,000 grams

1 pint = 2 cups

1 quart = 2 pints

1 gallon = 4 quarts

Rectangle

Area = l × w
Perimeter = l + l + w + w

w

l
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D
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C

D
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61.

Constructed-Response Scoring Rubrics
 
 

Session 3

Mathematics Grade 4 Page 42



62.

Mathematics Grade 4 Page 43



63.

Mathematics Grade 4 Page 44


	Session Name:  Session 1—Mathematics (No Calculator)
	Item ID:  652899
	Item ID:  684292
	Item ID:  652891
	Item ID:  691221
	Item ID:  652655
	Item ID:  682944
	Item ID:  691207
	Item ID:  654009
	Item ID:  652769
	Item ID:  692283
	Item ID:  652653
	Item ID:  682837
	Item ID:  686464
	Item ID:  654044
	Item ID:  682828
	Item ID:  654049
	Item ID:  682942
	Item ID:  682836
	Item ID:  653669
	Item ID:  682945
	Item ID:  654043
	Item ID:  654048
	Item ID:  670080
	Item ID:  654045
	Item ID:  684266
	Item ID:  691322
	Item ID:  653665
	Item ID:  652651
	Item ID:  682943
	Item ID:  682941
	Item ID:  682946
	Item ID:  652652
	Item ID:  682834
	Item ID:  682948
	Item ID:  652663
	Item ID:  686469

	Session Name:  Session 2—Mathematics (Calculator)
	Item ID:  682813
	Item ID:  682816
	Item ID:  653666
	Item ID:  654212
	Item ID:  682819
	Item ID:  653369
	Item ID:  686556
	Item ID:  648255
	Item ID:  670081
	Item ID:  682826
	Item ID:  670111
	Item ID:  690818
	Item ID:  652789
	Item ID:  654803
	Item ID:  686554
	Item ID:  669673
	Item ID:  653664
	Item ID:  653497
	Item ID:  691210
	Item ID:  682835
	Item ID:  648180
	Item ID:  682923
	Item ID:  654014
	Item ID:  648208

	Session Name:  Session 3—Mathematics (Calculator)
	Item ID:  652862
	Item ID:  652861
	Item ID:  686555



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.6
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /ENU ([Based on 'DRC_HiRes'] [Based on 'DRC_HiRes'] [Based on 'DRC_HiRes'] [Based on 'DRC_HiRes'] [Based on '[Press Quality]'] Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed true
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


